Which compound(s) out of the following is/are not aromatic?
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o A compound is considered to be aromatic, if it follows three
rules:
{a) Must be cyelic and planar.
() Must have conjugated system in it.
() It must follow Huckel rule which states that number of
m-electrons = (dn + 2)

(A) ? = 2r-e system [(4n + 2, n = 0]= Aromatic

(B) @ = 4m-¢ system [4nn, n = |]= Anti-aromatic

(C) @ = Bm-¢ system [4am, n = 2]= Anli-aromatic

(D) @ = The.rpg-mrbnn does not support conjugation and

sp also devoids planarity.
= Non-aromatic



